
Multiplication One 

3 x 4 = 12 

3 + 3 = 9 + 3 

2 x 5 = 10 

5 + 5 = 10 

2 x 3 = 6 

2 + 2 = 6 + 2 

3 x 4 = 12 

3 + 3 = 15 + 3 + 3 + 3 

 Solve the problems. 



Multiplication Two 

4 x 4 = 16 

4 + 4 = 16 + 4 

3 x 5 = 15 

5 + 5 = 15 + 5 

3 x 6 = 18 

6 + 6 = 18 + 6 

4 x 7 = 28 

7 + 7 = 28 + 7 + 7 

 Solve the problems. 

+ 4 



Multiplication Three 

9 + 9 = 18 

2 nines 18 = 

 Solve the problems. 

2 x 9 = 18 

7 + 7 = 14 

2 seven 14 = 

2 x 7 = 14 

3 + 3 = 6 

2 threes 6 = 

2 x 3 = 6 

2 + 2 = 4 

2 twos 4 = 

2 x 2 = 4 


